THE AB(’S ABC’s Lecture 1: 1 ptec printing

What are the ABC’s Of Science? a. the metric system b. safety c. the

9 OF S(lEN(E scientific method

3 '; and mile. However, MOST people use another
' l system called the International System of
Units or the ____ (which stands for Systéme Internationale d’Unités). This is the modern

form of the .

It all depends on the foot! Numbers and units are used to make measurements. The
distance from your desk to my desk could be 25 shoe lengths or 30 shoe lengths. It depends
on how big the shoe is. Think of Shaq’s foot versus Mini-Me. You can see that to use
practical measurements, a measurement standard HAS to be used. In other words, everyone
has to use the SAME system or units. Otherwise, it just gets confusing. A

is a fixed quantity used by everyone when measuring.

Advantages to using the metric system.

1: It helps scientists share & their results & observations. If I conducted
an experiment here in America, even a scientist in Zimbabwe would be able to understand
my measurements.

Let’s Talk Metric: Here in America we use an English system: foot, yard,

Think Metric
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" A355 ml can of soda waighs
355 gram:

1: All units are based on the number . Changing from one unit to another is easy!
S Elt:-::a%; ,(krn) 1 km = 1,000 m
decimeter {dm) ldmn=01m
centimeter (cm) 1em=001 m
millimeter (mm) 1 mm = 0.001 m
micrometer (pm) 1 pm = 0000001 m
nanometer (nm) 1 nm = 0,000000001 m
Still Confused?
OK, let’s get this as simple as we can. We are going to look What are we measuring? Unit Symbol
at all of our metric measurement as two- Length
part words. The first part is the Volume liter
The second part is the type of
P P Mass
Temperature Kelvin
Try this: 1 kilometer is equal to meters. What unit would you use to measure each of the
kilo-meter: prefix=kilo or 1000 unit = meter, measuring distance following?
5 kilometers is equal to meters Water. ina bottle
5 x 1000 meters = The distance from my classroom to the bathroom
10 kilometers is equal to m 10x 1000 m=
The amount of heat in the classroom? Kelvin or Celsius
How much matter is in a paperclip
I om ' mm Metric System: Length The is the ST unit of length. A meter
—~— I is about the distance from a doorknob to the floor. A driver golf club is also about

9 O]

a meter in length. The meter is divided into 100 equal parts called

o | . There are 100 centimeters in a meter: 100cm = 1 m. An

even smaller unit is a millimeter (mm).
The prefix milli- means 1/1000, so...

Long distances are measured in kilometers (km). Note: here is the US, we measure speed by miles per hour, (mph). In

most other countries, they measure in kilometers per hour.

Name 3 things that are about one Name 3 things that are measured in | Name 3 things that are small enough
meter long. centimeters to be measured in millimeters

1. 1. 1.

2. 2. 2.

3. 3. 3.
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nW = m o m 1 Which units measure the same basic quantities?
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m A B ) 5 e “ rnm A Miles and liters using the metric system?
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=t wno 2 What is the system by which we can convert between metric D Roughly /15 of a mile

and customary units?
7 M arecipe calls for 3 and 1/4 cups of flour, you can tell that

None; it's different for every unit it's using:

3. Measure the height of your desk from the floor to the top in meters & centimeters.
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